
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

Third Year 

Corporate Secretaryship 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

Answer should not exceed 2 pages. 

1. Give any five examples of capital receipts and 

capital expenses. 

 ‰»uÚ Á¸Áõ´PÐUS®, ‰»uÚa ö\»ÄPÐUS® 

H÷uÝ® I¢x Euõµn[PøÍz uµÄ®. 

2. Mr. Jai an Indian National Left India on 

01.04.2001 for the first time. He returns to India 

on 15.2.08. During the previous year 2008-09, he 

was in India only for 185 days. 

 Find his residential status for the assessment  

year 2009–10. 
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 v¸. öá´, C¢v¯ Si©Pß •uÀ uhøÁ¯õP 

01.04.2001–À C¢v¯õÂ¼¸¢x ¦Ó¨£mka ö\ßÓõº. 

15.02.08–À C¢v¯õÂØS v¸®¤Úõº. 2008–09 

•¢øu¯ BsiÀ AÁº 185 |õmPÐUS ©mk÷© 

C¢v¯õÂÀ C¸¢uõº. 

 Á¸©õÚ® PnUQk® Bsk 2009–10&US AÁµx 

Si°¸US® {ø»ø© GßÚ GßÖ Psk¤iUPÄ®. 

3. What are the incomes from House property wholly 

exempt from Income Tax? 

 •ÊÁx® Á› Â»UP©ÎUP¨£mh Ãmk ÁõhøP 
Á¸©õÚ[PÒ ¯õøÁ? 

4. What are deemed profits? 

 C»õ£©õP P¸u¨£k£øÁPÒ ¯õøÁ? 

5. What is Transfer of Capital Assets? 

 ‰»uÚ ö\õzx ©õØÓ® GßÓõÀ GßÚ? 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

Answer should not exceed 5 pages. 

6. Mr. Palani, a Bank Manager gets Rs. 18,000 p.m 

as salary and dearness allowance @ 10% of the 

salary. He is getting an entertainment allowance 
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of Rs. 8,000 p.a. During the previous year ending 

on 31.3.09 he received a Bonus of 3 month pay. He 

is also provided with a Rent free accommodation 

in a town whose population in less than 4 lakhs. 

 Find out his income under the head salaries for 

the Assessment Year 2009–10. 

 Á[Q÷©»õÍº v¸. £ÇÛ ¹. 18,000 ©õu Fv¯©õP 

ö£ÖQßÓõº. AP» Âø»¨£i Fv¯zuõÀ 10% 

ö£ÖQßÓõº. J¸ BsiØS ÷PÎUøP¨£i ¹. 8,000 

ö£ÖQßÓõº. 31.03.2009À •iÁøh²® BsiÀ, 

‰ßÖ ©õu Fv¯zøu FUP öuõøP¯õP ö£ØÓõº. 

AÁ¸US ÁõhøP ¤izu® CÀ»õ©À J¸ Ãk 

uµ¨£mkÒÍx. A¢u |Pµzvß ©UPmöuõøP  

4 »m\zøu Âh SøÓÁõÚx. 

 ©v¨¥k Bsk 2009–10US AÁµx Fv¯® 

GÆÁÍÄ GßÖ PnUQhÄ®. 

7. From the following Income and Expenditure 

Account of Mr. Zakir, a lawyer, find his 

professional Income for the year ending 31.3.2009. 

Income and Expenditure Account 

 Expenditure Rs.  Income Rs. 

To Rent of chamber 4,000 By Legal fees 40,000 

To Staff salary 10,000 By Gifts from clients 20,000 

To Traveling expenses 5,000 By Rent from House  

To Stamp papers 1,000    Property 5,000 
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 Expenditure Rs.  Income Rs. 

To Household Expenses 2,000   

To Subscription to law Journals 2,000   

To House property Tax 500   

To Donation 1,000   

To Surplus Income 39,500   

  65,000  65,000 

 Additional Information :- 

 Gift from clients include gift from his father  

Rs. 4,000. 

 R÷Ç uµ¨£mkÒÍ Á¸Áõ´/ö\»Ä PnUQ¼¸¢x 
v¸. áõRº ÁÇUPÔb›ß öuõÈÀ Á¸©õÚ® GÆÁÍÄ 
GÚ PnUQhÄ®. 

ö\»ÄPÒ ¹. Á¸©õÚ® ¹. 

AøÓÁõhøP 4,000 \mh B÷»õ\øÚ ÁÇ[PÀ 40,000

Fv¯® 10,000 Pm]PõµºPÎhª¸¢x  

¤µ¯õna ö\»Ä 5,000 ö£ØÓ £›_PÒ 20,000

u£õÀ uø»PÒ Áõ[Q¯x 1,000 Ãmk ÁõhøP Á¸©õÚ® 5,000

Ãmka ö\»ÄPÒ 2,000  

\mh £zv›UøPPÎß \¢uõ 2,000  

Ãmk Á› ö\¾zv¯x 500  

|ßöPõøh 1,000  

E£›Á¸©õÚ® 39,500  

 65,000  65,000

 TkuÀ uPÁÀ : 

 £›_z öuõøP°À ¹.4,000 AÁµx u¢øu°hª¸¢x 
ö£ØÓx. 
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8. Compute the capital gain on the sale of the 

following assets for the year ending 31.3.09. 

S.No.Particular Date of 

Purchase 

Cost Expenses 

on 

purchase 

Date  

of sale 

Sale Expenses 

sale 

   Rs. Rs.  Rs. Rs. 

1. House 02.01.07 5,00,000 1,000 30.12.08 8,00,000 5,000 

2. Land 01.12.06 40,000 400 08.02.09 6,00,000 500 

3. Gold 08.11.06 5,00,000 500 10.12.08 8,00,000 400 

4. Silver 10.04.06 4,00,000 4,000 12.01.09 2,00,000 500 

 31.3.09–À •iÁøh²® BsiØPõÚ ‰»uÚ 
Buõ¯® GÆÁÍÄ GÚ PnUQhÄ®. 

Á.Gs ÂÁµ® Áõ[Q¯ 
÷uv 

Áõ[Q¯ 
Âø» 

Áõ[Q¯ 
÷£õx 
ö\»Ä 

ÂØÓ 
÷uv 

ÂØ£øÚ ÂØ£øÚ°À 
ö\»Ä 

   ¹. ¹.  ¹. ¹. 

1. Ãk 02.01.07 5,00,000 1,000 30.12.08 8,00,000 5,000 

2. {»® 01.12.06 40,000 400 08.02.09 6,00,000 500 

3. u[P® 08.11.06 5,00,000 500 10.12.08 8,00,000 400 

4. öÁÒÎ 10.04.06 4,00,000 4,000 12.01.09 2,00,000 500 
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9. Mr. Sai is a M.P from South Chennai. He had 

submitted the following particulars of income for 

the year ending 31.3.09. 
  Rs. 

(a) Agricultural Income from land in Srilanka 15,000

(b) Salary as member of Parliament 36,000

(c) Daily allowance as M.P. 15,000

(d) Salary for part-time job in a firm 21,000

(e) Royalty from coal mine  20,000

 Expenses on collecting Royalty 3,000

(f) Dividend from Co-operative society 5,000

 Collecting charges for dividend 100

(g) His residential house has been taken on Rent   

@ Rs. 1000 p.m. Half of which has been let out 

@ Rs. 1200 p.m. 

 Calculate his income from other sources. 

 v¸. \õ´, öuß ö\ßøÚ £µõÐ©ßÓ EÖ¨¤Úº. 
31.03.09–À •iÁøh²® BsiØUPõÚ Á¸©õÚ 
ÂÁµ[PøÍ AÁº \©º¤zx EÒÍõº. AÁµx 
Á¸©õÚzøu PnUQhÄ®. 

  ¹. 

(A) ÿ»[PõÂÀ C¸¢x ö£ØÓ ÂÁ\õ¯¨ £n® 15,000

(B) £õµõÐ©ßÓ EÖ¨¤Úº \®£Í® 36,000

(C) £õµõÐ©ßÓ EÖ¨¤Úº vÚ¨£i 15,000

(D) J¸ {ÖÁÚzvÀ £Sv ÷|µ FÈ¯µõP ö£ØÓa \®£Í® 21,000

(E) {»UP› _µ[Pzv¼¸¢x ö£ØÓ Põ¨¦›ø© öuõøP 20,000

 Põ¨¦›ø© öuõøP ö£Ó ö\´u ö\»Ä 3,000

(F) TmkÓÄ \[Pzv¼¸¢x ö£ØÓ £[Põu¯® 5,000

 £[Põu¯® ö£ØÖöPõÒÍ ö\´u ö\»Ä 100

(G) AÁº Á]US® Ãk ¹. 1,000 ©õu ÁõhøP°À 
SzuøPUS GkUP¨£mhx. AvÀ J¸ £õv ©õu®  
¹. 1,200US ©ØÓ J¸Á¸US ÁõhøPUS 
Âh¨£mkÒÍx. 
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10. What are the Exempting allowed while computing 

the Capital Gains? 

 ‰»uÚ Buõ¯® PnUQk®÷£õx AÝ©vUP¨£mh 
Â»UP[PÒ ¯õøÁ? 

11. Write short notes on : 

 (a) Gratuity 

 (b) Know-How 

 (c) Maintenance of Race Horses. 

 ]ÖSÔ¨¦ ÁøµP : 

 (A) £oUöPõøh 

 (B) öuõÈØ ~m£® 

 (C) £¢u¯ SvøµPÒ £µõ©›¨¦. 

12. Mr. Doss is a blind-man. Compute his Taxable 

Income for the year ending 31.3.09. 

 Rs. 

Annual Salary 80,000 

Rent Received per year 1,00,000 

Dividend from Co-operative society 2,000 

Interest on Bank Deposits 4,000 

Interest on Govt Bonds 4,000 

Winnings from Lotteries 50,000 

Capital gain (L.T.C.G) 1,20,000 

Life Insurance Premium paid 15,000 
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 v¸. uõì – £õºøÁ AØÓÁº. 31.3.09–À •iÁøh²® 
BsiØUPõÚ AÁµx Á¸©õÚzøu PnUQhÄ®. 

 ¹. 

Fv¯® (BskUS) 80,000 

Ãmk ÁõhøP ö£ØÓx (BskUS) 1,00,000 

TmkÓÄ \[P £[Põu¯® ö£ØÓx 2,000 

Á[Q øÁ¨¦PÎß «x ö£ØÓ Ámi 4,000 

Aµ\õ[P £zvµ[PÎß «x Ámi 4,000 

»õmh› ^mkPÎÀ öÁßÓ öuõøP 50,000 

}sh Põ» ‰»uÚ Buõ¯® 1,20,000 

B²Ò Põ¨¥k •øÚ©zöuõøP ö\¾zv¯x 15,000 

—————— 


